MATH 132 Worksheet 14 Areas and Volumes

1. Find the area bounded by the given curves.
(a) y =% and y = 22 — x?
(b) y=2z and y = 2% — 4z
(¢) y=3z%y=2%+4
(d) y =sin(z),y = cos(z),z = 0, and z = 7/2 (Be careful!)
(¢) y=2z —1 and y* = 22+ 6 (Read the problem carefully!)

) y=1/z,y=1/2*z = 2.
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(g) y=>5cosz, y=5—
(h) y=36— 22 and y = 2% — 36

2. Find the volume of the solid obtained by rotating the region bounded by the given curves
about the specified line.

(a) z+2y =2, z =0, y = 0; about the x-axis
@ y=3z r=1 2= ~1, y =0; about the x-axis
@ y=3z% z =1, y = 0; about the y-axis
@ y=3z, z=1,2=0,y=0; about z =1
y:3x4,m=1,x20,yz0; about y = 3

(f) y? = 4z, y = z; about the x-axis

(g) y? = 4z, y = z; about the y-axis

(h) 32 = 4z, y = z; about z = 4

(i) y* =4z, y = z; about y = 4

(G) z=e¥,y=0,z=0,y=1; about the x-axis

(k) y-——sin(a:), z=0,z=m y=2;about y =2
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